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CHEMISTRY SSC-I

SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i Which term is same for one mole of oxygen gas and one mole of water?

A Volume B. Mass C. Atoms D. Molecules
(ii) Number of neutrons in 71: Mis:

A 13 B. 14 C. 27 D 15
(iii) Which isotope is used to irradiate cancer cells?

A lodine-123 B. Carbon-14 C. Cobalt-80 D. lodine-131
(iv) Which of the foliowing groups contain alkaline earth metals?

A [ A B. ITA C. A D. IV A
(v) Which of the following elements has greater shielding effect?

A Li B. Na C. K D. Rb
{vi) Which of the following elements will gain one electron to complete its octet?

A X B, X c. X D. X

13 16 17 18

(vii) Which of the following moiecules have a triple covalent bond?

A Cl, B. NH, C. N, D. O,
(viii)  Consider the following tabie:
. S.No. X Y xry
1. 1.00 273 0.0037
2. 1.37 373 0.0037
3 1.73 473 0.0037

Which of the following relationship does this table represent?

1
A Xm% B. XY C. X=Y D. X=—

(ix) Which of the following is not the unit of pressure?

A m’ B. KPa C. mmHg D. torr
(x) H,5+Cl, — 2HCI+S

in above reaction H,S behaves as:

A Oxidizing agent B. Reducing agent

C. Catalyst D Electrolyte
(xi) The Oxidation number of * N’ in HNO, is:

A +2 B. +3 C. +5 D. +7
(xii) Which of the foliowing is the most basic oxide?

A MgO B. BaO

C. CaO D SrO

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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Time allowed: 2:40 Hours

CHEMISTRY SSC-i 24

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3

SECTION — B (Marks 33)

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {(11x3=33)

Indigo dye (C,,H,,N,0,)is used to colour blue jeans. It is derived from indoxyl (C H,ON).

Calculate the molar masses of these two compounds and write their empirical formulas.
[At. Masses: C=12,H=1,0=16 ,N=14]

ldentify the branch of Chemistry that deals with the following examples:

(a) Sulphur dioxide is the major source of acid rain. (b) A silver aticle tarnishes in air.
{c) Gasoline (a mixture of hydrocarbons) fumes are ignited in an automobile engine.
Write electronic configuration of the foliowing elements.

@  Ar (b)  Na © ¥

W8 11 9

Define the term ‘Shielding effect’ and identify the atom having greater shieiding effect from the list
given below. Also explain your choice.

Li, Be, Mg

Wirite the Valence Shell electronic configuration of the following groups:

(a) Noble gases (b) Halogens {c) Alkali metals
Define the following:

(a) Octet rule (b) Duplet rule (c) Chemical bond

Using electron dot and cross structures write the equation for the formation of ionic bond between Mg
and O.

Differentiate between Amorphous and Crystalline solids.

A perfect elastic balloon filled with helium gas has a volume 1.25%10°dm’ at25 °C . When the
temperature drops to 15 °C the volume of the balloon becomes 1.208 x| 0'dm” at constant pressure.
Show that this data satisfies the Charles’ law.

What is ‘Distillation process’? Draw a diagram of distillation apparatus.

Calculate the molarity of a solution prepared by dissolving 1.25g HC/ gas in water to make 30cm’
solution. [At. Masses: H=1, C/=35.5]

Give a comparison of oxidation and reduction process.

Explain Electrolytic refining of Copper.

What are Noble metals? Write two uses of these metals.

Write the balanced equation for the reaction of potassium superoxide with water and discuss utility
of this reaction.

SECTION — C {Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)

Write two differences between the isotopes of an element. Also write name of isotopes of

hydrogen and draw their Bohr's atomic model. (04)
Draw.a labelled diagram of Galvanic Cell (Daniel Cell) and write the half cell reactions taking
‘place at anode and cathode of the Daniel Cell. {06)
Define the following periodic properties and discuss their trends in periods and groups of the

periodic table: {06)
(i) Atomic size (in lonization energy (iii) Electron affinity

Explain the effect of Change in external pressure on the boiling point of a liquid. (04)
Give a comparison of properties of solutions, suspensions and colioids. (05)
Define the following terms: ‘ {05)
(i) Relative atomic mass (i) Free radical (i) Mass number

(iv) Molecular-ion (v) Formula mass
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Roll No. Answer Sheet No. L[
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I

SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

o

(1

{vi)

(vii)

(viii)

(ix)

Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

The branch of Chemistry that deals with laws and theories to understand the structure and changes of

matter is called:

A. Biochemistry B. Physical Chemistry

C Industriat Chemistry D. Analytical Chemistry

212 U is used in atomic bombs, the number of neutrons present in this isotope of Uranium is:
A 235 B. 143 C. 144 D. 92

Which one of the following sub shell is filled after filling of 3p sub shell?

A 3d B. 3s C 45 D. 4p

Electronic configuration of an element is 1s° 2s* 2p° 3s” 3p" . In which of the following groups it will be
placed?

A 1A B. mA C. IVA D. VA
Which one of the following compounds is not having an ionic bond?

A NaCl B. MgO C. Mgk, D. Cco,
Which one of the following molecules has a non-polar covalent bond?

A N, B. NH, C. NO, D. N,QO,
A liguid boils when its vapour pressure becomes equal to:

A 760cmHg B. 101.325KPa C. I Pa D. 0.1 atm
Which is the property of crystalline solids?

A Random piacement of particles B. Very soft

C. Well defined shape D. irregular shape

Which quantity is same for one mole of hydrogen gas and one mole of water?

A mass B. number of atoms

C. number of gram atomic mass D. number of molecutes

An electrochemical cell in which electrical energy is used to derive a chemical reaction is called:
A Voltaic cell B. Electrolytic cell

C Galvanic cel! D. Dry cell

Galvanizing is:

A Coating with Tin B. Coating with Zinc

C Coating with Chromium D. Coating with Copper

The tendency of a metal to lose electrons is called:

A Electro negativity B. Electron affinity

C. Electro positivity D. Electricity

For Examiner’s use only:

Total Marks: j 12

Marks Obtained:
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Time allowed: 2:40 Hours

2/
CHEMISTRY SSC-|

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘G’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(i) What is mole? Calculate the number of atoms in 1.25 moles of Zinc.
(i) Differentiate between empirical and molecular formuia. Give an example of a substance having different
empirical and molecular formula.
(iiiy Wirite the electronic configuration of foliowing elements.
@  .Si Al ©  hAr
(iv) What is ionization energy? Explain the trend of ionization energy in a period and a group of the periodic
table.
V) Write down the group number and pericd number of the following atoms:
(a) A=1s72s"2p' (b) B=1s5"2s"2p"3s' (c) C=1s"25"2p"
{vi) Describe the formation of O~ anion with the help of electronic configuration and electron dot structure.
[At. No. of ‘O’ = 8).
(vii) Draw the electron cross and dot structure of the following molecules. [At. No. N=7, H=1, $=16, C=6]
(a) NH, (b) H,S () CH,
(viiiy  Define the following terms:
(a) Evaporation {b) Diffusion (c) Boiling Point
(ix) Explain the effect on the volume of a gas by changing its pressure and temperature.
(x) What are allotropes? Give name of allotropes of Carbon and Sulphur.
(xi} What are colloids? Give their properties.
(xin) Explain the term 'percentage of solution’ and write four ways to express the ‘percentage of solutions’.
(xii)  Define the term ‘Oxidation’. Determine the oxidation number of ‘Cr’ in K ,Cr,0, .
(xiv)  Draw a labelled diagram to show electroiytic refining of Copper. ]
(xv) How would you perform a test for identification of Ca*" and Ba? ions in the given salt? Give observations
of the test performed.
SECTION - C (Marks 20)
ote: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
.3 Write down postulates of Bohr's atomic mode!. {05)
b. Using a labelled diagram explain the conduction of electricity through moiten Sodium Chloride. {05)
.4  a State the Charles’ Law and explain the Volume-Temperature relationship at constant pressure by
using the data given below: (08)
[ Temperature (°C) | Volume {cm°) | Temperature (°C) | Volume (cm’)
25 117.5 35 121.3
30 119.4 40 123.2 |
b. Giving suitable examples define and expiain the following terms. 02+02
(i) Gram molecular mass (i} Gram formula mass
QA.5 a. Define molarity. Calculate mass of NaOH in grams in a 0.25M solution of NaOH . Volume of this
solution is 1 dm’[At. Masses: Na=23 , O=16, H=!] 01+03
b. Using a labelled diagram explain the manufacturing of Sodium metal from fused NaClby Down's Cell

process. (06)
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I- g o) o) (5 ansS

53 proen o S & 2:40

LGPy @ 0 e dtpriont 47 (1) AL oo g Qﬁ}m&f{ e sialzl oty v sl po 2

_U':?Lvi_ngimfduaglﬁ L fT—Jz—@Jkr’{i—/gjb(Sheet-B).:élfafl

(11x3=33) 1u..‘g:a§|£”,¢fju:}”1£'vc.- Ll A dle tliowe 1Ay

(334K o

LG S S L I 1 258 U (i)
'}fJQJr‘Jﬁ/'ggiufﬂ/_:;5!&?u_’:)Jﬁ‘gj)_gdjlu{slilt}g}u’:,‘r"ﬂ;/’{gbmﬂ-/jil (iy)
AU s i)

27

40 KL
s AT =& Al — Si ol

13 14

Pkd

-J/fjlub/(ﬁ/! f'/k/TJ._,VC;U/‘.’:J’_,, /‘.‘b\fu/ 2o (iv)
-7 /x‘/’ﬂ‘/-fbfﬂ))"u o) {v)
C=15"2s5"2p* N B=15"25"2p"3s' — A=ls'2s"2p' L
(8= A5 0Ly S (anion) o Te1 O e na§ A et F Ui i
IN=7, H=1, S=16, C=6 AN wA st e ity (il
Cl, 2 HS NH,  __s
J A PSS s (Vi)
sy By g UBll e gt
Y /'/JL-:;J.JALU;:"::..A,./JMJQJ YA J:!/{{ﬂ)bc_,uj (ix)
_u:”(LLJ:AIL/L’AUJK‘U‘L@-’/} (x)
el Sty i)
B e L L TGS v S SasnA e (xi)
A e Cr g KOO, Ll A ST (i)
K2 e A b T EndSdg e i A8 xv)
0 C"’ m,»g:_h_,» nel g eyl L =l TBa™ i Ca® J‘Jlfafr_;._, {xv)

204 (o

(2x10=20) e ALl Sy » <3

(05)
(05)
{06)

02+02

03+01

(06)

NS S I ST R w8

:)Lb:p(fcf.i./fi(ﬁ.’;—uﬂfiugéj‘yf_ﬁgic.uJ{y“;&:zd/y _——
_¢/”fisJWuly;;£ .:,jl/",?ﬂ/ﬂlﬁ;’b/_:/f}{j;‘c.ud/ﬁ;52‘.{&“.in_/}fd__'/uy.u)jl?(g,f’"j/&g o

(°C) sl Zzus cm’ (:JJJ
25 117.5
30 119.4
35 121.3
40 123.2
:L,I/’/;) Léu:f_@/:’.L;\.J_'_5C'/HC--‘»‘JU’J¢‘~./V il
S G s

L ldm’ r,g.s,ng,,a wufb-§ NaOH  0.25M./F u:/?ﬁ’”uiww W NaOHl _ S A0 2 i
(Na=23, 0=16, H=1. s, )
(. NaCl Lﬂéifﬁﬁfﬁ)-@/& l):JdeJ:,Lw‘—3?@);&}@51@#5”:..{‘ -

— 1SA 1608 (ON) ——

/N

04 1y




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

